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How many factors are combined to create DTP?
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Some of Eastman’s 1891 range of cameras could be loaded in daylight.

Z /A ] LA F| Eastman F1 1891 B> 421 .
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Which paragraph contains information about larvae?
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But these systems have used cellular phones operating on very high
frequency (and also high frequency) radio links. These systems — the same

links that keep pilots in touch with flight controllers—have either limited range

or low. ..
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I LA, flight controllers CKATHE#HI A 51D 5B H 8 control tower (F ] 3#)
FEXT R, R AR R &R
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5. F /] (Topic Sentence)

B B, EEA R R TE EEREN A . ENBATRE WA
MEFEBEPRERE. EMSEMEEECENNA MAZEEFOIM L. BZ
EXHBEE KBTI ERE EBRAM ERER.

—BAER T SN BREE A EE A, e R B RE R BT, BV X e E
HHMEA, BEREMENT T O UERERZENTESRE. MEREREHIY
FEA], B R A R R B T . il

More recent developments such as those seen on California wind farms
have dramatically changed the economic picture for wind energy. These
systems, like installations in Hawaii and several European countries, have
benefited from the economies of scale that come through standardized
manufacturing and purchasing. The result has been a dramatic drop in capital
costs: the installation cost of new wind turbines stood at $ 1000 per kilowatt
in 1993, down from about $ 4000 per kilowatt in 1980, and continues to fall.
Design improvements and more efficient maintenance programs for large
numbers of turbines have reduced operating costs as well. The cost of
electricity delivered by wind farm turbines has decreased from about 30 cents
per kilowatt-hour to between 7 and 9 cents. which is generally less than the
cost of electricity from conventional power stations. Reliability has also
improved dramatically. The latest turbines run more than 95 per cent of the
time, compared with around 60 per cent in the early 1980s.

EX—BH, BIRE —H]“More recent developments such as those seen on
California wind farms have dramatically changed the economic picture for wind
energy "BLE EHA] . EMHE T 2RMWNE, BB EEKE. 5@/ H M &4
IR B G XA T R FF Y, & AR R UG R A SRR VE A

BT E X B FE A s B R L RS A £

An organization is only as good as the people it employs. Selecting the
right person for the job involves more than identifying the essential or
desirable range of skills, educational and professional qualifications necessary
to perform the job and then recruiting the candidate who is most likely to
possess these skills or at least is perceived to have the ability and
predisposition to acquire them. This is a purely person/skills match approach to

selection.



Unit One
Text A

The Sword That Can Heal

[Warm—up Exercise|

Before reading the text, please discuss the following topics:
® Do you know what is laser?
® What are the uses of laser?

[Reading Comprehension Exercisa

Now read the text and answer all the questions.
(You should spend about 15 minutes on questions 1 - 12, which are based on

Text A.)

A While military scientists test lasers against satellites, surgeons use them
as miraculously accurate scalpels. The beam can be focused to spot one
fiftieth the size of a human hair; yet its intensity is enough to kill cancer
cells or drill through the most delicate bones.

B More than a decade ago, eye surgeons realised that they could use the
laser’s beam to seal individually the microscopic blood vessels in the retina.
The beam is so fine that only the target is heated. Now its pin-point blasting
power has been turned to destroying cancer cells and reducing birthmarks.
For cancer treatment, the diseased cells must be killed while their healthy
neighbors are left unharmed. Where the cancer can be directly and
accurately attacked, laser treatment does well: early cancer of the cervix
and skin cancers have been widely and successfully treated. For cancers that
are less accessible, there is a new and potentially valuable technique in
which the patient is injected with a chemical that then attaches itself
preferentially to cancer cells. When the laser strikes the chemical, it
releases a form of oxygen that kills these cells.

C  The marvellous accuracy of the surgical laser can be increased by
sending the beam along fibres of glass far finer than a human hair. The
“optical fibres” carry it around corners and direct it precisely at a tiny area;
so little of the beam spills from the glass that there is no risk of damaging
healthy cells.

6




D  Furthermore, the laser beam can also remove bone, and so it is
invaluable in ear surgery. The sounds we hear are carried from the eardrum
to the nerves of the ear by a delicate set of pivoting bones which sometimes
solidify, causing deafness. A laser beam vaporises the bone without
touching any of the surrounding tissue. This accuracy in targeting makes
the laser a useful tool for the dentist also—a nerve can be reached through a
hole drilled in the enamel.

E Birthmarks, once almost untreatable, are a mass of blood vessels and,
being red, they absorb the laser beam strongly. It seals them so that the
mark becomes less conspicuous. The normal cells of the skin’s surface,
which don’t absorb much of the laser beam, act in the healing and help to
conceal the mark. The operation can transform the lives of people who were
previously doomed to a lifetime of cosmetic concealment.

F Though this application is widely used in America, there are in Britain
only two hospitals offering the treatment. and one feels bound to warn
patients that success is not certain. However, some 10 new centres will soon
be opened. Britain, though. is one of the leaders in the laser treatment of
bleeding peptic ulcers and this, combined with new medicines, can mean
ulcer treatment without conventional surgery. (465 words)

Questions 1 - 6

Reading passage of Text A has six paragraphs. Choose the most suitable
headings for paragraphs A - F from the list of headings gtven below. Write the
appropriate numbers (i - viii) in boxes 1 - 6 on vour answer sheet.

NB  There are more headings than paragraphs, so you will not use all of
them. You may use any of the headings more than once.

List of Headings

I Treating cancer

it  Military use

i1 Ear surgery and dentistry

iv. Cosmetic surgery

v The pin-point accuracy of the laser

vi The laser as a powerful surgical instrument
vii  The laser in British hospitals
viii_Eye surgeons

1. Paragraph A: 2. Paragraph B.
3. Paragraph C. 4. Paragraph D;
5. Paragraph E; 6. Paragraph F.



Questions 7 - 12

Complete the following sentences with NO MORE THAN THREE WORDS from

the text for each answer.

7. Laser beam can be focused as thin as

8. About 10 years ago,

found that they could use laser

beam to seal blood vessels in retina.

9. In cancer treatment,

must be killed while their

healthy neighbors remain unharmed.

10. The surgical laser can be made more accurate if the beam is sent along

precisely at a tiny area.
11. Deafness is caused by the

which may carry it around corners and direct it

of a delicate set of

pivoting bones which carry the sound we hear from the eardrum to the

nevers of the ear.

12. is one of the countries that take the lead in the
laser treatment of bleeding peptic ulcers.

laser /'leiza/ n. ¥

surgeon /'sa:d3en/ n. PRI EE

retina /'retina/ n. ¥ /% A&

miraculously / mi'rekjulasli/ adv. # il
L, AR

scalpel /'skalpal/ n. FARJ]

delicate /'delikat/ a. /Ny

microscopic /,maikra'skopik/ a. #& 5 />
W, B BT TREE DM

blood vessel /'blad,vesl/ L&

pin-point /'pinpoint/ a. ( B ¥5) & B K
H#EM n A

blast /bleest/ v. F4E 1B IE

birthmark /'ba:mak/ n. ffid

cervix /'sawviks/ n. FE

inject /in'dzekt/ v. iE§}

preferentially /\prefa'renfali/ adv. {7

New Words and Expressions

surgical /'sa:dzikl/ a. SpRIEY

optical /'optikl/ a. Y¥ 8

eardrum /'iadram/ n. B8

pivot /'pivet/ v, fE¥%

solidify /sa'lidifai/ v. 4k, T

vaporise /'veiparaiz/ v. L. T HESX

conspicuous /kan'spikjuas/ a. BH B 1.
BHRY

doomed /du:md/ a. ¥ E M

cosmetic /kos'metik/ n. & a. ki FHHY,
bt F

concealment /kon'si:lment/ n. ¥

application / zpli'keifon/ n. ¥

peptic /'peptik/ a. B #

ulcer /'alsa/ n. 9%

conventional /kan'venfanal/ a. E 4 HY

surgery /'sa:dzeri/ n. SMELFER




Text B

Issue of Unemployment

lWarm—up Exercise{

Before reading the text, please discuss the Sfollowing topics :

® Consider what are the causes of unemployment and what will be the result
of high unemployment?

® How can the problem of high unemployment be solved?

]Readilg Comprehension Exercise

Now read the text and answer all the questions.
(You should spend about 20 minutes on questions 13 - 24, which are based on

Text B.)

Changes in the volume of unemployment are governed by three
fundamental forces: the growth of the labor force, the increase in output
per man-hour, and the growth of total demand for goods and services.
Changes in the average hours of work enter in exactly parallel fashion but
have been quantitatively less significant. As productivity rises, less labor is
required per dollar of national product, or more goods and services can be
produced with the same number of goods. If output does not grow,
employment will certainly fall; if production increases more rapidly than
productivity, employment must rise. But the labor force grows, too.
Unless gross national product (total final expenditure for goods and services
corrected for price changes) rises more rapidly than the sum of productivity
increase and labor force growth (again modified for any change in hours of
work), the increase in employment will be inadequate to absorb the growth
in the labor force. Inevitably the unemployment rate will increase. Only
when total production expands faster than the rate of labor force growth
plus the rate of productivity increase and minus the rate at which average
annual hours fall does the unemployment rate fall. Increases in productivity
were more important than growth of the labor force as sources of the wide
gains in output experienced in the period from the end of the war to the mid-
sixties. These increases in potential production simply were not matched by

increases in demand adequate to maintain steady full employment.




Except for the recession years of 1949. 1954, and 1958, the rate of
economic growth exceeded the rate of productivity increase. However, in
the late 1950s productivity and labor force were increasing more rapidly than
usual, while the growth of output was slower than usual. This accounted
for the change in employment rates.

But if part of the national purpose is to reduce and contain unemploy -
ment, arithmetic is not enough. We must know which of the basic factors we
can control and which we wish to control. Unemployment would have risen
more slowly or fallen more rapidly if productivity had increased more
slowly, or the labor force had increased more slowly, or the hours of work
had fallen more steeply, or total output had grown more rapidly. These are
not independent factors, however, and a change in any of them might have
caused change in the others.

A society can choose to reduce the growth of productivity, and it can
probably find ways to frustrate its own creativity. However, while a
reduction in the growth of productivity at the expense of potential output
might result in higher employment in the short run, the long-run effect on
the national interest would be disastrous.

We must also give consideration to the fact that hidden beneath national
averages is continuous movement into, out of, between, and within labor
markets. For example, 15 years ago, the average number of persons in the
labor force was 74 million, with about 70 million employed and 3. 9 million
unemployed. Yet 14 million experienced some time of unemployment in that
year. Some were new entrants to the labor force; others were laid off
temporarily, the remainder were those who were permanently or indefinitely
severed from their jobs. Thus, the average number unemployed during a
year understates the actual volume of involuntary displacement that occurs.

High unemployment is not an inevitable result of the pace of technologi-
cal change but the consequence of passive public policy. We can anticipate a
moderate increase in the labor force accompanied by a slow and irregular
decline in hours of work. It follows that the output of the economy—and the
aggregate demand to buy it—must grow by more than 4 percent a year just
to prevent the unemployment rate from rising, and by even more if the
unemployment rate is to fall further. Yet our economy has seldom, if ever,
grown at a rate greater than 3.5 percent for any extended length of time.

We have no cause for complacency. Positive fiscal, monetary, and man

| power policies will be needed in the future. (680 words)
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